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y=1log,(3z—6) y=log,(32z+6)+3

3.f(x)=log,z ¢ A&

[ (zy) =logxy=logz+logy=f(z)+f(y)
f(%)— log%: logz—logy = f(x) = f(y)

f @) =loga" =nlogx=nf(x)
f(@?) =log,a® =2log,x =2f (x)
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f( . )— log,-=log. logx =—f(z)

f(a?)-f'f(%): 1ogal‘+loga%= log,1=7(1)=0
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logyxr =t .. t & EEAL

logpda® =log,d+loger” =2+2t
log,2x =logs2 +logsxr =1+1¢
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logsdx =logsd +1logsxr =241
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log2§=10g2x—log28=t—3
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logsr " =logsr-logyr = (logyr)® =t°
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log2;: logyx ! =—logyx =—1

log22:102 = log22+log2x2 =1+2t
log2:v2 =2log,x =2t

log,(22)* = 2log,2z =2(log,2 +logyr)
long3 =3logyr =3t

=2(1+t)
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log, vV =logyr” = 5t

(log2z)* = (log,2+1log,r)® = (1+1)?
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logb=t ... t
a>1 0<b<1 logh=t..t<0
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a>1,b>1, loghb=t..t>0
0<b<1l b>1 loghb=t..t<0
0<a<1l 0<b<1 logb=t..t>0

1<b<a loghb=t..0<t<1
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